Rt R1 R2 R3 R4 Pt Pl P2 P3 P4
1 362 469 | 1.26 ! 320 26 100 75 60 40
2 271 87 229 [ 160 [27 25 15 75 60
3 1.1 10 2.0 26,2228 60 40 25 15
4 1.11 1.5 23 12 44[29 | 100 8.5 15 20
5 1.111] 6.4 2.8 61.88[30 | 150 25 100 10
6 20 40 60 80 {31 2.2 .6 .3 7
7 90 100 200 300 (32| 11.1 ! 2 3 4
8 24K | 1.eK | 100K| 1.11K33 | 17 2 3 8
9 1000K]| 1200K1 1400K] 1600K]|34 21 22 23 24
10 240 240 240 240 |35 8 16 8 16
11 16 26 36 46 136 20 20 20 20
12 56 66 76 86 {37 20 40 &0 100
13 1.21 1.26 | 1.28 | 1.29 |38 ] 200 40 40 40
14 12.12| 27.34| 33.42] 79.76|39 | 2400 § 1200 | 600 406
15 82.62| 56.79| 48.55| 65.28{40| 1800 | 100 200 400
16 121.2] 116.1] 104.3] 131.4|41| 1800 | 200 300 400
17 153.7] 122.2| 198.8] 80642 | 1600 { 300 300 300
18 1000 | 1000 | 1000 | 1000 [43 | 1400 120 120 120
19 460 17.2 | 1010 | 42 |44 | 1200 250 250 250
20 480 86.5 1212 | 740 |45 1200 | 1200 | 1200 | 1200
21 91.7 | 520 42 91 |46 1500 | 1500 | 1500 | 1500
22 33.42| 2 560 102.2 147 600 800 | 1000 | 1200
23 86.62| 2 48 580 |48 4500 | 4500 | 4500 | 4500
24 56.79f 2 60 172.8i49 12000| 8000 | 4000 | 2000
25 65.28| 2 72 47.9 |50 24000% 12000 | 8000 { 4000

Resistance in series is additive. The whole equals the sum of its parts.

Walttage in series is additive. The whole equals the sum of iis paris.




